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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	U55610

	2
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.1 Adaptation [99024]
	U55627

	3
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.2 Extinction [99025]
	U55607

	4
	B  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.2 Extinction [99025]
	D50607

	5
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	U55606

	6
	B  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	D101478

	7
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.1 Adaptation [99024]
	U55357

	8
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.1 Adaptation [99024]
	U55214
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	Question 1 of 8

	A tapeworm survives by attaching itself in the intestine of animals such as cows. The tapeworm eats the cow’s food and the cow becomes ill. What relationship does a tapeworm and a cow share? 
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	A.
	predator-prey 
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	B.
	parasite-host 
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	C.
	mutalism 
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	D.
	commensalism 

	 


	Question 2 of 8

	Which type of animal would be most able to adapt to the cold arctic regions? 
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	A.
	small reptiles 
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	B.
	large amphibians 

	[image: image7.wmf]  
	C.
	thin winged birds 

	[image: image8.wmf]  
	D.
	thick furred mammals 

	 


	Question 3 of 8

	Cheetahs are now an endangered species. Which of these human activities has caused the decline of cheetahs in the world? 
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	A.
	the release of cheetahs into the wild 
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	B.
	the use of land where the cheetah lives 
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	C.
	the conservation of the land for the cheetah 
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	D.
	the capturing of cheetahs for displays in zoos 
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How is this animal currently classified?
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	A.
	extinct
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	B.
	endangered
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	C.
	threatened
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	D.
	thriving

	 


	Question 5 of 8

	A beaver is very important to an ecosystem because a beaver ________ 
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	A.
	eats plants that reduce the space available for fish. 
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	B.
	builds dams that block the path of dangerous animals. 
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	C.
	builds dams that keep water in areas that are normally dry. 
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	D.
	eats fish that can overpopulate and consume most of the insects. 

	 


	Question 6 of 8

	What would be the first thing to happen to an ecosystem, if there was too much competition for food between animals?
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	A.
	all the animals would die
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	B.
	competing animals would eat up the food source
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	C.
	competing animals would eat each other
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	D.
	competing animals would start to die

	 


	Question 7 of 8

	Which of the following animals likely lives in an Arctic environment? 
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	A.
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	B.
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	C.
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	D.
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	Question 8 of 8
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In which environment would this animal most likely live? 
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	A.
	grassland 

	[image: image36.wmf]  
	B.
	tundra 
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	C.
	rainforest 
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	D.
	desert 
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